
MATHS

BOOKS - RS AGGARWAL MATHS

(HINGLISH)

LINEAR EQUATIONS IN ONE VARIABLE

Example

1. Find the solution of the equation 4x = 12

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_l0oqk15SjrCZ


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x = 4

x = 3

x = − 3

x = 0

2. Solve the equation  by the

trial-and-error method.

3x − 5 = 7 − x

https://dl.doubtnut.com/l/_l0oqk15SjrCZ
https://dl.doubtnut.com/l/_fCUsNLEucrpA


Watch Video Solution

3. Solve the equation  by the trial-

and-error method.

Watch Video Solution

y + 5 = 8
1

3

4. Solve the equation  and check the

result.

Watch Video Solution

x − 5 = 7

https://dl.doubtnut.com/l/_fCUsNLEucrpA
https://dl.doubtnut.com/l/_o6uOVMSnUXaA
https://dl.doubtnut.com/l/_XizA0fQefxUR


5. Solve the equation  and check the

result.

Watch Video Solution

8 + x = 3

6. Solve the equation  and check the

result.

Watch Video Solution

8x = 24

https://dl.doubtnut.com/l/_OY6EXXshIYrj
https://dl.doubtnut.com/l/_jr0EvZBqzJgQ


7. Solve the equation  and check the

result.

Watch Video Solution

x = 18
2

3

8. Solve for  : .

A. 

B. 

C. 

D. 

x 3x + 5 = 13 − x

2

3

4

5

https://dl.doubtnut.com/l/_SPgNSM6VxDzf
https://dl.doubtnut.com/l/_yk48cptM6hbe


Answer: A

Watch Video Solution

9. Solve : . Check the result.

Watch Video Solution

x − 7 = 5 +
x

2

10. Solve: .

Check the result.

Watch Video Solution

3(x + 3) − 2(x − 1) = 5(x − 5)

https://dl.doubtnut.com/l/_yk48cptM6hbe
https://dl.doubtnut.com/l/_r36WzGPPOmjW
https://dl.doubtnut.com/l/_UcQ18dX3O4X0


11. Solve: . Check the result.

Watch Video Solution

− = − 2
x

8

1

2

x

6

12. If 5 is subtracted from three times a

number, the result is 16. Find the number.

A. 7

B. 21

C. 5

D. None of these

https://dl.doubtnut.com/l/_UcQ18dX3O4X0
https://dl.doubtnut.com/l/_9q5ITbAEyqSP
https://dl.doubtnut.com/l/_mYgRZDFDMF6y


Answer: A

Watch Video Solution

13. Find two numbers such that one of them

exceeds the other by 9 and their sum is 81.

Watch Video Solution

14. The length of a rectangular field is twice its

breadth. If the perimeter of the field is 228

metres, find the dimensions of the field.

https://dl.doubtnut.com/l/_mYgRZDFDMF6y
https://dl.doubtnut.com/l/_RpBiHPlKiu5J
https://dl.doubtnut.com/l/_yMdQxskLNlPL


Exercise 9 A

Watch Video Solution

15. Mona's father is thrice as old as Mona. After

12 years, his age will be twice that of his

daughter. Find their present ages.

Watch Video Solution

https://dl.doubtnut.com/l/_yMdQxskLNlPL
https://dl.doubtnut.com/l/_tpGoPOGhj2wm


1. Write the statements as an equation: 

(i) 5 times a number equals 40. 

(ii) A number increased by 8 equals 15. 

(iii) 25 exceeds a number by 7. 

(iv)A number exceeds 5 by 3. 

(v) 5 subtracted from thrice a number is 16. 

(vi)If 12 is subtracted from a number, the result

is 24. 

(vii)Twice a number subtracted from 19 is 11. 

(viii) A number divided by 8 gives 7. 

(ix)3 less than 4 times a number is 17. 

https://dl.doubtnut.com/l/_rtDXwHF9VdWS


(x) 6 times a number is 5 more than the

number.

Watch Video Solution

2. Write a statement of the equation, given

below: 

(i)  

(ii)  

(iii)  

(iv)  

x − 7 = 14

2y = 18

11 + 3x = 17

2x − 3 = 13

https://dl.doubtnut.com/l/_rtDXwHF9VdWS
https://dl.doubtnut.com/l/_ZwHqjNCOFOhv


(v)  

(vi)

Watch Video Solution

12y − 30 = 6

= 8
2z

3

3. Verify by substitution that the root of . 

(i)  is  . 

(ii)  is  . 


(iii)  is  . 


(iv)  is . 


(v)  is  .

Watch Video Solution

3x − 5 = 7 x = 4

3 + 2x = 9 x = 3

5x − 8 = 2x − 2 x = 2

8 − 7y = 1 y = 1

= 8
z

7
z = 56

https://dl.doubtnut.com/l/_ZwHqjNCOFOhv
https://dl.doubtnut.com/l/_U46kpSPyqkr3


4. Solve the equation by the trial-and-error

method. 

(i)  

(ii)  

(iii)  

(vi)  

(v)  

(vi)  

(vii)  

(viii)  

y + 9 = 13

x − 7 = 10

4x = 28

3y = 36

11 + x = 19

= 4
x

3

2x − 3 = 9

x + 7 = 11
1

2

https://dl.doubtnut.com/l/_U46kpSPyqkr3
https://dl.doubtnut.com/l/_lexs8PKBfHl5


Exercise 9 B

(ix)  

(x) 

Watch Video Solution

2x + 4 = 3y

z − 3 = 2z − 5

1. Solve : . Check the result.

Watch Video Solution

x + 5 = 12

2. Solve: . Check the result.x + 3 = − 2

https://dl.doubtnut.com/l/_lexs8PKBfHl5
https://dl.doubtnut.com/l/_dR6sgYyCnZ6h
https://dl.doubtnut.com/l/_lqvCqIijcfY9


Watch Video Solution

3. Solve:  . Check the result.

Watch Video Solution

x − 7 = 6

4. Solve: . Check the result.

Watch Video Solution

x − 2 = − 5

5. Solve: . Check the result.3x − 5 = 13

https://dl.doubtnut.com/l/_lqvCqIijcfY9
https://dl.doubtnut.com/l/_PUudkyRNcdU0
https://dl.doubtnut.com/l/_hS12RCf083tU
https://dl.doubtnut.com/l/_NWEUoHFCmAZU


Watch Video Solution

6. Solve: . Check the result.

Watch Video Solution

4x + 7 = 15

7. Solve: . Check the result.

Watch Video Solution

= 12
x

5

8. Solve: . Check the result.= 12
3x

5

https://dl.doubtnut.com/l/_NWEUoHFCmAZU
https://dl.doubtnut.com/l/_e8TR2g8YZwQD
https://dl.doubtnut.com/l/_QuBwW5TAiBgk
https://dl.doubtnut.com/l/_j9sDWCZDwgtX


Watch Video Solution

9. Solve: . Check the result.

Watch Video Solution

5x − 3 = x + 17

10. Solve: . Check the result.

Watch Video Solution

2x − = 3
1

2

11. Solve: . Check the result.3(x + 6) = 24

https://dl.doubtnut.com/l/_j9sDWCZDwgtX
https://dl.doubtnut.com/l/_TBDFlAWfoOkS
https://dl.doubtnut.com/l/_Ot2zEZ1yEEA0
https://dl.doubtnut.com/l/_YmyU4BF1kZdP


Watch Video Solution

12. Solve: . Check the result.

Watch Video Solution

6x + 5 = 2x + 17

13. Solve: . Check the result.

A. x = 45

B. x = 40

C. x = 36

− 8 = 1
x

4

https://dl.doubtnut.com/l/_YmyU4BF1kZdP
https://dl.doubtnut.com/l/_LbGj4jHmYhI3
https://dl.doubtnut.com/l/_G7ysSfTJ9Iau


D. x = 42

Answer: C

Watch Video Solution

14. Solve: . Check the result.

Watch Video Solution

= + 1
x

2

x

3

15. Solve: . Check the

result.

3(x + 2) − 2(x − 1) = 7

https://dl.doubtnut.com/l/_G7ysSfTJ9Iau
https://dl.doubtnut.com/l/_c7tCW6vgvwUf
https://dl.doubtnut.com/l/_qO5fXkYkmQOe


Watch Video Solution

16. Solve: . Check

the result.

Watch Video Solution

5(x − 1) + 2(x + 3) + 6 = 0

17. Solve: . Check

the result.

Watch Video Solution

6(1 − 4x) + 7(2 + 5x) = 53

https://dl.doubtnut.com/l/_qO5fXkYkmQOe
https://dl.doubtnut.com/l/_j8338syUx28B
https://dl.doubtnut.com/l/_NzcQWN0nCX5x
https://dl.doubtnut.com/l/_zDyzP94RYrp4


18. Solve: .

Check the result.

Watch Video Solution

16(3x − 5) − 10(4x − 8) = 10

19. Solve: . Check

the result.

Watch Video Solution

3(x + 6) + 2(x + 3) = 64

https://dl.doubtnut.com/l/_zDyzP94RYrp4
https://dl.doubtnut.com/l/_xjFRarVPrPnN


20. Solve: . Check

the result.

Watch Video Solution

3(2 − 5x) − 2(1 − 6x) = 1

21. Solve: . Check the result.

Watch Video Solution

− 5 = +
n

4

n

6

1

2

22. Solve: . Check the

result.

+ 8 = − 1
2m

3

m

2

https://dl.doubtnut.com/l/_G5aDC38yw0Gc
https://dl.doubtnut.com/l/_hHFnpHzkcMQs
https://dl.doubtnut.com/l/_mMDiHqzkHgVS


Watch Video Solution

23. Solve: . Check the

result.

Watch Video Solution

− = + 1
2x

5

3

2

x

2

24. Solve:  . Check the result.

A. x = -16

B. x = -15

− 2 =
x − 3

5

2x

5

https://dl.doubtnut.com/l/_mMDiHqzkHgVS
https://dl.doubtnut.com/l/_XRYhsAy1ltl7
https://dl.doubtnut.com/l/_SGFKBwf9GKtv


C. x = -13

D. x = -14

Answer: C

Watch Video Solution

25. Solve: . Check the result.

Watch Video Solution

− 4 = 14
3x

10

26. Solve: . Check the result.(x − 1) = x − 3
3

4

https://dl.doubtnut.com/l/_SGFKBwf9GKtv
https://dl.doubtnut.com/l/_DTcsxoJWEx5k
https://dl.doubtnut.com/l/_IkUfqORsURIP


Exercise 9 C

A. x = 11

B. x = 9

C. x = 10

D. x = 12

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_IkUfqORsURIP


1. If 9 is added to a certain number, the result

is 36. Find the number.

Watch Video Solution

2. If 11 is subtracted from 4 times a number,

the result is 89. Find the number.

A. 28

B. 27

C. 25

https://dl.doubtnut.com/l/_svJh3OeFKhuN
https://dl.doubtnut.com/l/_ymaI0E45mJe6


D. 26

Answer: C

Watch Video Solution

3. Find a number which when multiplied by 5 is

increased by 80.

A. 30

B. 40

C. 20

https://dl.doubtnut.com/l/_ymaI0E45mJe6
https://dl.doubtnut.com/l/_1Mtn3DJCHPq3


D. 10

Answer: C

Watch Video Solution

4. The sum of three consecutive natural

numbers is 114. Find the numbers.

A. 32 , 33 ,34

B. 37, 38, 39

C. 36, 38, 40

https://dl.doubtnut.com/l/_1Mtn3DJCHPq3
https://dl.doubtnut.com/l/_K37hRUafPD4d


D. 40 , 41 , 42

Answer: B

Watch Video Solution

5. When Raju multiplied a certain number by

17 and adds 4 to product, he gets 225. Find

that number.

Watch Video Solution

https://dl.doubtnut.com/l/_K37hRUafPD4d
https://dl.doubtnut.com/l/_ImaMi7C2X3AP


6. If a number is tripled and the result is

increased by 5, we get 50. Find the number.

Watch Video Solution

7. Find two numbers such that one of them

exceeds the other by 18 and their sum is 92.

Watch Video Solution

https://dl.doubtnut.com/l/_lyh8fM9E18Yg
https://dl.doubtnut.com/l/_XthghTtwyZd5


8. One out of two numbers is thrice the other.

If their sum is 124, find the numbers.

Watch Video Solution

9. Find two numbers such that one of them is

five times the other and their difference is 132.

Watch Video Solution

https://dl.doubtnut.com/l/_zIxIGkuOeZ4C
https://dl.doubtnut.com/l/_4iqvrpL2MXHp


10. The sum of two consecutive even numbers

is 74. Find the numbers.

Watch Video Solution

11. The sum of three consecutive odd numbers

is 21. Find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_yE0OXAofFcNs
https://dl.doubtnut.com/l/_hnlu1TQwG0Jl


12. Reena is 6 years older than her brother

Ajay. If the sum of their ages is 28 years, what

are their present ages ?

Watch Video Solution

13. Deepak is twice as old as his brother Vikas.

If the difference of their ages be 11 years, find

their present ages.

Watch Video Solution

https://dl.doubtnut.com/l/_qJfi7g4ddxGn
https://dl.doubtnut.com/l/_ehHJwPsKtLZy
https://dl.doubtnut.com/l/_sU6XKYPqkwE9


14. Mrs Goel is 27 years older than her

daughter Rekha. After 8 years she will be twice

as old as Rekha. Find their present ages.

Watch Video Solution

15. A man is 4 times as old as his son. After 16

years he will be only twice as old as his son.

Find their present ages.

Watch Video Solution

https://dl.doubtnut.com/l/_sU6XKYPqkwE9
https://dl.doubtnut.com/l/_KsdlKRdiG5Mf
https://dl.doubtnut.com/l/_w0LWB9YIpaKd


16. A man is thrice as old as his son. Five years

ago the man was four times as old as his son.

Find their present ages.

Watch Video Solution

17. After 16 years, Fatima will be three times as

old as she is now. Find her present age.

Watch Video Solution

https://dl.doubtnut.com/l/_w0LWB9YIpaKd
https://dl.doubtnut.com/l/_g5AQ294tI8Gp


18. After 32 years, Rahim will be 5 times as old

as he was 8 years ago. How old is Rahim

today?

Watch Video Solution

19. A bag contains 25-paisa and 50-paisa coins

whose total value is Rs30.If the number of 25-

paisa coins is four times that of 50-paisa

coins,find the number of each type of coins.

Watch Video Solution

https://dl.doubtnut.com/l/_6JmXdXLJW49l
https://dl.doubtnut.com/l/_hB63N0i9klcg


20. Five times the price of a pen is Rs. 17 more

than three times its price. Find the price of the

pen.

Watch Video Solution

21. The number of boys in a school is 334 more

than the number of girls. If the total strength

of the school is 572, find the number of girls in

the school.

Watch Video Solution

https://dl.doubtnut.com/l/_hB63N0i9klcg
https://dl.doubtnut.com/l/_8p5NSYwKDIkk
https://dl.doubtnut.com/l/_Xr9QCnGCXhiA


22. The length of a rectangular park is thrice

its breadth. If the perimeter of the park is 168

metres, find its dimensions.

Watch Video Solution

23. The length of a rectangular hall is 5 metres

more than its breadth. If the perimeter of the

hall is 74 metres, find its length and breadth.

Watch Video Solution

https://dl.doubtnut.com/l/_Xr9QCnGCXhiA
https://dl.doubtnut.com/l/_Vo3vVB00I5ha
https://dl.doubtnut.com/l/_yIkGVYwNMySm


Test Paper

24. A wire of length 86 cm is bent in the form

of a rectangle such that its length is 7 cm

more than its breadth. Find the length and the

breadth of the rectangle so formed.

Watch Video Solution

1. A man earns Rs. 25 per hour. How much does

he earn in x hours?

https://dl.doubtnut.com/l/_yIkGVYwNMySm
https://dl.doubtnut.com/l/_cePw29O4ikZz
https://dl.doubtnut.com/l/_l0cvSL8Ly1n5


Watch Video Solution

2. The cost of 1 pen is Rs. 16 and the cost of 1

pencil is Rs. 5. What is the total cost of x pens

and y pencils.

Watch Video Solution

3. Lalit earns Rs. x per day and spends Rs. y per

day. How much does he save in 30 days?

Watch Video Solution

https://dl.doubtnut.com/l/_l0cvSL8Ly1n5
https://dl.doubtnut.com/l/_1rvx2NUY0ItK
https://dl.doubtnut.com/l/_82VNgLRf6BkJ


4. Three times a number added to 8 gives 20.

Find the number.

Watch Video Solution

5. If , find the value of

.

Watch Video Solution

x = 1, y = 2 and z = 3

x2 + y2 + 2xyz

https://dl.doubtnut.com/l/_82VNgLRf6BkJ
https://dl.doubtnut.com/l/_sNi8Sr0OMMZM
https://dl.doubtnut.com/l/_3kyBZXAdHobI


6. Solve: .

Watch Video Solution

4x + 9 = 17

7. Solve: .

Watch Video Solution

3(x + 2) − 2(x − 1) = 7

8. Solve: .

Watch Video Solution

− =
2x

5

x

2

5

2

https://dl.doubtnut.com/l/_VM7YLPFQMhaw
https://dl.doubtnut.com/l/_PAUzyBZ2qLTU
https://dl.doubtnut.com/l/_jTdzaBXhOa6H


Test Paper Choose The Correct Answer

9. The sum of three consecutive natural

numbers is 51. Find the numbers.

Watch Video Solution

10. After 16 years, Seema will be three times as

old as she is now. Find her present age.

Watch Video Solution

https://dl.doubtnut.com/l/_uNwHD6OYgZDv
https://dl.doubtnut.com/l/_geRDY8lvU6Mk
https://dl.doubtnut.com/l/_iY7IvEVeiBLc


1. By how much does 1 exceed ?

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

2x − 3y − 4

2x − 3y − 5

2x − 3y − 3

5 − 2x + 3y

https://dl.doubtnut.com/l/_iY7IvEVeiBLc


2. What must be added to

 to make the sum 

?

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

5x3 − 2x2 + 6x + 7

x3 + 3x2 − x + 1

4x3 − 5x2 + 7x + 6

−4x3 + 5x2 − 7x − 6

4x3 + 5x2 − 7x + 6

https://dl.doubtnut.com/l/_bURdRljnCzBZ


3. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x − [3y − {2x − (y − x)}] = ?

5x − 4y

4y − 5x

5y − 4x

4x − 5y

https://dl.doubtnut.com/l/_jrJnDefWrlY2


4. The coefficient of x in -5xyz is

A. -5

B. 5yz

C. 

D. yz

Answer: C

Watch Video Solution

−5yz

https://dl.doubtnut.com/l/_DxjozyJiNSAR


5.  is a

A. monomial

B. binomial

C. trinomial

D. quadrinomial

Answer: C

Watch Video Solution

(x + y + z)
1

3

https://dl.doubtnut.com/l/_aKErkkvIrH1i


6. If , then

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

= 1
x

5

x =
1

5

x = 5

x = (5 + 1)

https://dl.doubtnut.com/l/_CHjOXT4GZyKP


7. If  then 

A. 6

B. 12

C. 14

D. 15

Answer: C

Watch Video Solution

x = 1, y = 2 and z = 3

(x2 + y2 + z2) = ?

https://dl.doubtnut.com/l/_bNN7rdkm67Ec
https://dl.doubtnut.com/l/_83vOYoMVnHdE


Test Paper Fill In The Blanks

8. If , then ?

A. 3

B. 6

C. 9

D. 12

Answer: C

Watch Video Solution

x + 5 = 8
1

3
x =

https://dl.doubtnut.com/l/_83vOYoMVnHdE
https://dl.doubtnut.com/l/_XumaC3xugLA8


1. An expression having one term is called a

........ .

Watch Video Solution

2. An expression having two terms is called a

.......... .

Watch Video Solution

https://dl.doubtnut.com/l/_XumaC3xugLA8
https://dl.doubtnut.com/l/_T78oSlDQQ5aZ


3. An expression having three terms is called a

......... .

Watch Video Solution

4. Find the value of x.

3x-5=7-x

Watch Video Solution

https://dl.doubtnut.com/l/_5YETXA6qQ7GW
https://dl.doubtnut.com/l/_R1jbIXNsF061


Test Paper Write True T And False F

5.  ........... .

Watch Video Solution

(b2 − a2) − (a2 − b2) −

1.  is a monomial.

Watch Video Solution

−3xy2z

2.  is a solution of .x =
2

3
2x + 5 = 8

https://dl.doubtnut.com/l/_GE3ekFUpOnGC
https://dl.doubtnut.com/l/_FojCXL3pY66A
https://dl.doubtnut.com/l/_Cbf16huw6cjo


Watch Video Solution

3.  is a linear equation.

Watch Video Solution

2x + 3 = 5

4. Write it T or F. The coefficient of x in 5xy is 5.

Watch Video Solution

https://dl.doubtnut.com/l/_Cbf16huw6cjo
https://dl.doubtnut.com/l/_qzL47Q93mEx5
https://dl.doubtnut.com/l/_usvUCGISTqFg


5. Write statement T or F

8-x=5 , x =3`.

Watch Video Solution

https://dl.doubtnut.com/l/_YWSFMEV6e7HH

